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Introduction:

This paper shall show test time versus wrong decision risk for a statistical test.

Interpretation of the figure:


We see 3 pairs of pass fail limits:

A DUT on the limit is passed, accepting a wrong decision risk F:

Outer pair:  F=0.02%

Middle:       F=5%

Inner Pair.  F approx 30%

A DUT needs a max number of errors for decision:

F=0.02%           nemax = 340

F=5%                nemax = 150

F approx 30%    nemax = 60

The max number of samples is nemax /Error Ratio 

     The average number of samples is smaller for DUT on the test limit
         The average number of samples is again smaller for DUT better or worse than test limit
The actual number of samples is unknown.

However the relation 340/150/60 is preserved

The diagonal and all paralles are lines of constant test time. [image: image1.jpg]10
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